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2 1,044,900 1,026,903 17,997
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[ 50,610 48,025 2,585

Al 50,610 48,025 2,585
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=2 404,880 384,200 20,680

[ 50,610 48,025 2,585
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2 404,880 384,200 20,680
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< 25,028 24,434 594
Al 225,252 219,906 5,346
01 Al 28X =02 250,280 244,340 5,940
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2 & 250,280,000& 250,280 244,340 5,940
& 25,028 24,434 594
Al 225,252 219,906 5,346
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< 0 1,000 A 1,000
Al 0 9,000 A 9,000
307 glz2tol ™ 0 10,000 A 10,000
< 0 1,000 A 1,000
Al 0 9,000 29,000
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Al 0 9,000 A 9,000
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Al 2,990,704 3,122,552 A 131,848
ZUSDo wsHH BX 1,484,614 1,547,167 A 62,553
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Al 446,548 452,028 A5,480
A28 2 ME 321,330 297,180 24,150
= 46,900 46,900 0
J| 3,200 3,200 0
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Al 239,480 245,330 A5,850
AU ME XA 15,460 21,310 A5,850
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01 Ar2 22l bl 5,500 10,050 A 4,550
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307 glztol & 80,000 50,000 30,000
= 30,000 0 30,000
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= 130,500 126,000 4,500
= 10,150 9,800 350
Al 4,350 4,200 150
YA OIS HRIBA BN E 1,428 1,220 208
= 1,000 854 146
Al 428 366 62
301 YerE A S 1,428 1,220 208
=2 1,000 854 146
Al 428 366 62
01 AtSl 2 B = 26 2 1,428 1,220 208
Ol eIEos a2l . BH NBN
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DI QA (=) 2,496,455 2,481,728 14,727
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= 83,322 68,040 15,282
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= 83,322 68,040 15,282
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HENANLBAK MM 145,500 140,507 4,993
= 58,200 56,203 1,997
Al 87.300 84,304 2,996
301 LprE A 145,500 140,507 4,993
= 58,200 56,203 1,997
Al 87,300 84,304 2,996
NEEFERYE! 145,500 140,507 4,993
OFSXABAX LN A
23 145,500,000 145,500 140,507 4,993
= 58,200 56,203 1,997
Al 87.300 84,304 2,996
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